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MASS COMNIUNICATION AND JOURNALISM

Paper 11

Time Allowed : 1% Hours] [Maximum Marks : 100

Note :— This paper contains fifty (50) multiple choice questions, each question carries

two (2) marks. Attempt all of them.

Gathering anrd dissemination of facts about current events and happenings,

trends, issues and people to wide new audience is called :

(A) Infotainment (B) Communication

(C) Journalism (D) None of these

Sending a message to a recipient by means of a medium is known as :
(A) Journalism (B) Communication

(C) Mass communication (D) Information

When the communication is reflexive in nature, it is called :

(A) Mass communication (B) Group communication

(C) Interpersonal (D) Intrapersonal

When a mass media is available for use by people in a locality it is called

the: ..corvenensses of media
(A) Reach (B) Access
(C) Availability (D) None of these
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10.

When a mass media can be used by people in a locality it is called the ....................

of media.
(A) Reach | (B) Access
(C) Availability (D) None of these

The medium that has the widest reach in India is :

(A) Print ~ (B) Radio

(C) Television (D) Internet

When the sign resembles the object it represents, it is called :

(A) Symbol (B) Myth

(C) Index (D) Icon

Role of media in society is to :

(A) Educate (B) Inform

(C) Entertain (D) all of these

The system used for broadcasting TV programmes in India is known as :
(A) SECAM - (B) NTSE

(C) PAL (D) NTCE

The Department of Government of India responsible for giving government

advertisements to media is :
(A) Field publicity , (B) DAVP

(C) RNI (D) PIB

T.B.C. : 19/17/ET-11 4
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11.  Which language has the highest circulation of newspapers in India ?
~ (A) English ' (B) Malayalam
(C) Tamil (D) Hindi

12.  Which organization in India brings out the data relating to media every

quarterly ?
(A) MRUC (B) NRS
(C) ABC (D) None of these

13.  Transferring thoughts, ideas and messages into verbal and non-verbal signs

is referred to as :

(A) Channelisation (B) Mediation

(C) Encoding (D) Decoding
14. Sardar K.M. Panickar was associated with :

(A) The Pioneer (B) The Tribune

(C) The Times of India (D) The Hindustan Times
15. Short wave frequencies are used for radio commﬁnication of :

(A) Short distance (B) Long distance

(C) Location specific distance (D) Specific distance

T.B.C. : 19/17/ET-II 6
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16.

17:

18.

19.

The Arabic television channel Al-Jazeera has its headquarters at :
(A) Cairo (B) Tunis
(C) Doha (D) Musecat

A distinction between administrative and critical communication research was

first drawn by :

(A) Harold Lasswell (B) Paul Lazarsfeld

(C) Walter Lippmann (D) Elihu Katz

The Second Press Commission of India submitted its report in :
(A) 1978 (B) 1980

(C) 1982 | (D) 1975

Give the correct match of Assertion and Reason :

Assertion (A) : Development means equal access to products, services and

opportunities on purely economic terms.

Reason (R) : Bits and watts increase mass production and consumption,

resulting in modernized poverty.

Codes : ‘

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

T.B.C. : 1917/ET-II 8



16. oG elifas 99e S-S 6 EAEd FE ¢ 2
(A) wifeq # (B) =gfa #
(C) <1 d (D)mﬁ
-17. quTafiE SR ST §ER WY ved w1 %% wed ved fREy e ?
(A) Tieg AEad (B) dla ASTHBCS-
(C) dfex forads D) tferg HEes
18. 9Rd & TW U9 ImEm A o e w9 wigd w2
(A) 1978 (B) 1980
(C) 1982 (D) 1975
19. 3y iR o w1 W@ faemy wifsg
afwa (A) : fawm &1 e ¥ 3, Janeli iR sEEd w1 fds 1 | A

T |

& (R) : iz ok areg o2 o saed oik w0 wen ¥, e sftomreasg
amyfrs e St ¥

HE :

(A) ﬁ(A)aﬂI(R)ﬂé’l%‘

(B) 2 (A) I R) T A (R) (A) T T L R R
(C) (A) Wé %, afFT (R) 7o @

(D) (A) &9 ¥, afFT (R) ¥& ®

T.B.C. : 19/17/ET-II 9 P.T.O.



20. Identify the correct sequence of the following :
(A) Scene, sequence, frame, sifmt, film
(B) Film, scene, frame, shot, sequence
(C) Frame, shot, scene, sequence, film
(D) Shot, frame, sequence, scene, film

21. ‘Maratha’ was the sister publication of :

(A) Lok Satta (B) Kesari

(C) Sakal (D) Maharashtra Times
22. A sentence used in cemmunication I8 B cecosroneseranssaonsen of words.

(A) Paradigm (B) Consequence

(C) Syntagm (D) Movement

23. For Roland Barthes, myth is a system of :

(A) Contrasts : (B) Morality
(C) Precepts (D) Communication
24. When was the Commercial service Vividh Bharati launched ?
(A) 1967 (B) 1930
(C) 1957 (D) 1948

T.B.C. : 19/17/ET-II 10



20.

21.

22.

23.

24.

(A) ArHE (B) &l

(C) TS (D) HerTe 2T
O L T g —— ¥

(A) T (B) wfme

(C) faem | (D) T

At wd & fad fag fem =t = & 2
(A) = ‘<B) Hfcrerer
(C) s (D) GYwo
fafay ardt aifoifeors fan #a wres g8 ot 2
(A) 1967 (B) 1930

(C) 1957 (D) 1948

T.B.C. : 19/17/ET-II 11

P.T.O.



25. Give the correct match of Assertion and Reason :

Assertion (A) : The public relations exercises seldom save a company in
crisis.
Reason (R) : PR exercises are dubious in nature.
Code :
(A) Both (A) and (R) are true.
(B). Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.
26. When was the First Press Commission appointed ?
(A) 1956 (B) 1957
(C) 1958 (D) 1952
27. Whose famous' quotation is the following :
“The medium is the message.” |
(A) Maxwell E. McCombs (B) Marshall McLuhan
(C) McNelly (D) Harold Lasswell
28. Find the correct chronological order of the films of Guru Dutt :
(A) Baazi, Pyasa, Kagaz ke Phool, Sahib Bibi aur Ghulam,
(B) Pyasa, Baazi, Kagaz ke Phool, Sahib Bibi aur Ghulam.

(C) Kagaz ke Phool, Pyasa, Baazi, Sahib Bibi aur Ghulam

(D) Sahib Bibi aur Ghulam, Kagaz ke Phool, Pyasa, Baazi.

T.B.C. : 19/17/ET-II 12
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29. Channel ABP NEWS is owned by
(A) Zee Media Corporation
(B) ABP group
(C) Independent News Service
(D) Associated Broadcasting Company Pvt. Ltd.

30. The folk singing style Pandwani narrates tales from the :
(A) Ramayana (B) Mfihabharata
(C) Puranas (D) Panchtantras

31. Who among the following directors has not been associated with the South

Indian Cinema ?
(A) Mani Ratnam (B) Balu Mahendra
(C) K. Balachandar (D) R. Balki
32. Jawaharlal Nehru was associated with which newspaper ?
(A) The Hindustan Times (B) Young India
(C) National Herald (D) Times of India
33. Long shot of the camera is from :
(A) Head to toe (B) Head to waist

(C) Head to knee (D) Head to shoulders

T.B.C. : 19/17/ET-11 14
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34. The headquarters of the Wall Street Journal is :
(A) Washington (B) New York
(C) London (D) Paris

35.  Observational documentary is also known as :
(A) Direct Cinema | (B) Reflective
(C) Participatory (D) Expository

36.  Who among the following is not a director of the parallel film movement of

Hindi Cinema ?
(A) Mani Kaul (B) Kumar Shahani
(C) Saeed Mirza (D) Gulzar
37. Who established the Prithvi Theatres in Mumbai ?
(A) Prithviraj Kapoor (B) Raj Kapoor
(C) Shammi Kapoor (D) Shashi Kapoor

38. Who said that, “the popular culture is associated with people who lack

economical and cultural capital” ?

(A) Roland Barthes (B) Pierre Bordieu

(C) Adorno (D) Wendy Griswold
39. Which among the following is a chick flick ?

(A) Sleepless in Seattle (B) Titanic

(C) Schlinder’s List (D) Avtaar

T.B.C. : 19/17/ET-II 16
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40. Which one of the following is not a function of communication according to

the Jakobson’s model ?
(A) Emotive (B) Poetic
(C) Conative (D) Prosaic

41. Match the following and select the correct answer from the codes given

below : ’ B
List I : List II
(Films) | (Directors)

(@) Sooraj ka satvan ghora (z) M.S. Sathyu

(b) Drifters (i) Andrei Tarkovsky

(¢) Solaris (zii) Shyam Benegal

(d) Garam Hava (fv) John Grierson

Codes :

(@ () (c) (d)

(A) () (i) (#ii) (iv)

(B) (iit) (iv) (if) (@)

© @ (iid) (i) (if)

(D) (1) (@) (iv) (iit)
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42. Match the following and select the correct answer from the codes given

below :

List I | List II

(Acts) - (Years)
(@) Prasar Bharti Act (z) 1952
(b) Cinematograph Act (@) 1990
(¢) Copyright Act (iii) 1995
(d) Cable TV Regulation Act (iv) 1957
Codes :

@  ® () (d)
@A @) (iv) (iti) @)
(B) (i) @) () i)
© O (i) (iv) (i)
O @ (i) @ ()
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43. Varghese Committee (1977-1978) was formed to give recommendations on :
(A) Radio and TV popularity
(B) TV Popularity
(C) Media Autonomy
(D) Newsprint Supply
44. When did the Times of India start its publication ?
(A) 1838 (B) 1861
(C) 1866 (D) 1826
45. The Indian Cinematography Act was passed in the year :
(A) 1918 . (B) 1921
(C) 1931 (D) 1909
46. Which Indian News Agency has Reuters invested in 7
(A) Asia News International
(B) Press Trust .of India
(C) UNI

(D) Indo-Asia News Agency

T.B.C. : 19/17/ET-II 22



43. =i =mfafa (1977-1978) f9 &R &1 oy & fag s+t ot ?
(A) e ik Jet =t iy
(B) &t ® wehiad
(C) wifea
(D) =geifye emgfd
44, T G IEW F UFWH FA W gAT 7
(A) 1838 (B) 1861
(C) 1866 (D) 1826
45, wRdrE fERemTEl HA we wid gIn 2
(A) 1918 : (B) 1921
(C) 1931 (D) 1909
46. AR 3 fryw uim gow wfafa § S a2
(A) TRE S A
(B) W TW 3% 3feam
(C) 3. wW. IE.
(D) ST S
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47.

48.

'(A) Both (A) and (R) are true

In the question given below are two statements labelled as Assertion (A) and
Reason (R). In the context of the two statements which one of the following

* is correct ?

Assertion (A) : The MacBride report is also known as Many Voices, One
World.

Reason (R) : The MacBride Commission was organized to analyse the problems

of the world media.

Codes : ,

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false. |

(D) (A) is false but (R) is true.

In the question given below are two statements labelled as Assertion (A) and
Reason (R). In the context of the two statements which one of the following

is correct ?

Assertion (A) : Social networking can make the Indian Political class watchful

and refrain from getting involved in misdeeds.

Reason (R) : Social media made the Arab Spring possible hence the Indian

political class is cautious.

Codes : 7

(B) (A) is false but (R) is true.
(C) (A) is true but (R) is false.

(D) Both (A) and (R) are true but (R) is not the correct explanation of (A)

T.B.C. : 19/17/ET-II 24
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49.

50.

In the question given below are two statements labelled as Assertion (A) and
Reason (R). In the context of the two statements which one of the following

is correct ?

Assertion (A) : Newspapers are facing some great obstacles for their proper

development at the present time.

Reason (R) : The internet is considered as one of the major. barriers in the

growth of the print media. : u

Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

In the question given below are two statements labelled as Assertion (A) and
Reason (R). In the context of the two statements which one of the following

is correct ?

Assertion (A) : The editorial is an article that presents the newspapers opinion

on an issue, it reflects the views of the editorial board.

Reason (R) : In the editorial board generally editor or experts express their

views on a particular subject.

Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

T.B.C. : 19/17/ET-II 26
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50.

Frefafad w37 § afsa (A) R & R) & ®9 8 Ru T 3 9w 81 3 <
T & e # fr=afafee § 3 sFw @@ & 2

ARNTFRIT (A) : TIER-TF T A o fawm & fau o0 wwensi &1 9w
F W B

T (R) : gsa wew & fowm &1 w@ 91 e+ 76 9 2

T

(A) ZF (A) 3R (R) && 2

(B) T (A) 3R (R) & %, afF1 (R) (A) F1 W& wdiaw 76 ¥

(C) (A) & %, @fFT (R) 7o &

(D) (A) T=a &, AfeT (R) W& 2

frefafeg w9 8 afypem (A) 3R @8 (R) @ 9 § R mu &1 59 €1 39 @
FaE # gey # frefafes § @ 9@ w6 ¥ 2

FRTFHIT (A) : GUCHT 98 9@ ¢ S GAER-9F &I fFH 993 W T Yhe HLl
1 I8 U9 TUEHE Hed & Bl 8

& (R) : GURSIE Hed § I 9ues R fawg favmg oot @ fodt fovw
faog w @ B

HE

(A) ZH (A) 3R (R) WE 2

(B) TH (A) 3 (R) W& & AT (R) (A) & T& wriesaor 78 @
(C) (A) W& 2, afF (R) 7o &

(D) (A) To@ @, AT (R) W €
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